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Use the following figure to answer questions 1-5.

1. If quadrilateral ABCD is reflected over the x-axis, the coordinates of D' would be
SR sy ]

A) (2,-6) c) (6,-2) D) (-6,2)

2. If quadrilateral ABCD is reflected over the line y = x, the coordinates of C" would be

B) (2,1) 0) (1,2) D) (1,-2)

3. If quadrilateral ABCD is rotated 270° counterclockwise, the coordinates of B' would be

A) (=3,-6) B) (3,-6) 0 (3,6)

4. If quadrilateral ABCD is rotated 180° counterclockwise, the coordinates of 4" would be

-

A) (6,5) f\B) (5 ) ¢) (=5,-6) D) (~6,-5)
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5. If quadrilateral ABCD is translated right 5 units and down 2 units, the coordinates of D' would be

o) (3,4) 0 (-7,-8) D) (-7,~4)
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7. Draw an example of an angle bisector.
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8. Draw an example of a linear pair.

9. Draw an example of vertical angles.
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10. The vertices of Triangle | are A(-3, 6), B(-1, 2) and C(-5, 3). Triangle | is rotated 90° counterclockwise,
resulting in Triangle II. Triangle Il is reflected over the y-axis, resulting in Triangle Hil.

A. On the coordinate plane below, draw and label Triangles I, Il and 111

aEE |
. I ik
HERNEY

B. Describe a single transformation that would 1]
map Triangle I directly onto Triangle Ill.
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11. Given: Line m is parallel to line n with transversal t.

Prove: mZ2+mZ7=180°
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12. Given: Line m is parallel to line n with transversal t.

Prove: m/3=m/5 (without usi
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13. Use the given diagram to answer the following question.

If m || n, m£8=>5x+20 and mZ1=17x~— 5, find mZ6.
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14. Use the given diagram to answer
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the following question.

if m||n, m£7=10x+7 and m<3 =T7x+44, find mZ4.
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15.

Prove: AQMH = ADKH

statements

Given: Histhe midpoint of AK and QD
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16. Given: <S=<R and X7 bisects <SXR

Prove; ASXT 2 ARNT

statem ents
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2) X bisects LIXR
2) L SxT = LRXT
NTY =Tx
5)ASXTZ ARXT

17. Given: RT bisects <QRS, <1 = <2
Prove: ARTQ = ARTS
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18.  Given: AB||DE, AE bisects BD S R
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19.  Given: PM||NO, MNJ|PO,
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Use the picture on the right for question 20: lines s and t are parallel 54’
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20. Angle L= 6x+ 3, angle A=57—12x. Solve for x
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Use the picture on the right for questions 21-24. Lines m and n are parallel.

21. What is the measure of angle E?
A) 63°  B) 297° c)27°( D)117° \ o
™~
B

22. What is the measure of angle H? 5

A) 117° B) 50° . D) 127° m

23. How are angle A and angle H related?

h

A) Alternate Exterior B) Interior C) Corresponding D) Alternate Interior

24. How are angle G and angle C related?

'/_,—-Aﬂwl—«_.‘\
A) Alternate Interior  B) Interior C) Vertical D) Corresponding

25. Which of the following is an example of an exponential growth function?

A) y=4(0.1)" B) y=4—-x D) y=4x
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26. Which of the following is an example of an exponential decay function?

B) y=4-x C) y=403)" D) y=4x"
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For questions 27-32, use the histogram to the right that displays how many free throws each student made

out of 9 tries in Mr Kain’s 3" period gym class.

27. How many students shot free throws? Ml' Kaiﬂls SFd period gyln CIaSS
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28. How many total free throws were made? l@f i L !
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C) 342 free throws OS// -P[,\Mf L:n&f«{jl\(/\

D) 9 free throws Qﬂﬂ

2 3 4 5 67 8 9
Free Throws Made {out of 8)

29. Calculate th ber of shot de. ~ - -
alculate the mean number of shots made HZJfL“[C 4 gfﬁ'& hn [!.ﬁ'i‘j
(round to the nearest tenth) CGA VL (e ((. ' WO = 4»/_,l - [
A) 1 free throw made per student B) 4.5 free throws made per student 0 (‘
C) 5.4 free throws made per student D) 5.5 free throws made per student ,Zg‘[ Hop g,
545%=5,5 55 sudens

30. What is the median number of shots made?

. - . ’
A) 5 free throws Qj:L - POSHPOA O’C f»f»/l LA
2
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31. If Omar made seven free throws, what is his percentile?

A) 20" Percentile B) 62" Percentile
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c) 70" Percentile D) 80" Percentile

32. If Karen is at the 40" percentile, this means that:

A) She made 40% of her free throws. B) 40% of the people scored higher than Karen,

T T e T et

(’ C) 40% of the people scored at or below Karen.j D) 40 People scored less than Karen.
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Use the frequency table below for questions 33 - 34.

The following table displays the number of female’s that live in the same house.

33.

34.

35.

36.

Number of females Frequency
that live at home

0 4

1 12 I

2 10

3 8

4 4

5 0

6 2

7 o |

X

What is the mean number of females that live in the same house?

B) 1 female Pu‘(/ (/\ s ((/ ) L\((?L {;,f«-f}
C) 1.9 females D) 2 females WO Lf

What is the median number of females that live at home?

A) 2.1 females B) 1 female

C) 1.9 females D) 2 females

Assume a plant of height 14 cm grows at a constant rate of 8% per day. Write a recursive formula that
would give the height of the plant at the end of each day based on the height from the previous day.

O:IL( Gi N ~ (N
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The population of Gates Mills in 2000 was 2,874. The growth rate is 2.4% per year and a net migration
(number of people that leave) of 25 people. Write a recursive formula that would give the population of
Gates Mills based on the population from the previous year.
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The box plots below represent the time spent by students of different grades while traveling to school from

home. Use these box plots to answer questions 37-41.
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37. Which grade’s students had the smallest IQR? &
A) Grade 1 B) Grade 2 3> '
C) Grade 3 D) Grade 4

38. Which grade’s distribution is skewed right?

A) Grade 1 B) Grade 2
D) Grade 4

39. Which grade’s distribution has the largest median?

A) Grade 1l B) Grade 2

C) Grade 3 D) Grade 4

40. If all students start traveling to school at 9:40AM and school starts at 9:45AM, which is the only grade that

will have some students reach school on time?

A) Grade 1 Q) C—@ AO(\'& .rﬁﬂ{, u\)[’k‘:ﬁ {/‘”t/q Saﬁ&@agpﬁf
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C) Grade 3
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41. For grade 1, what percent of students spend between 10 and 20 minutes traveling?
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42. A peculiar giant mythical turtle is found in Vietnam. The turtle currently weighs 20 Ibs and its weight
increases by 10% every week.

a. Complete the table below. )
Week 0 1 2 3 4 5

Weight(Lbs) 20 ;) 2 2L,{ 5 24,.(9 Q‘E EP I

b. Which of the following scatterplots could be a plot of the (week, weight) data for the first several
weeks? Support your reasoning.

E‘K(Jomxrzh «Hc}'}w Vot ,{;@,ﬁ;‘ ot Crake af- ()

c. Write a recursive formula that could be used to calculate the weight of the turtle for any week from
the weight in the previous week.
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d. Write an explicit equation that could be used to calculate the weight of the turtle for any number of

weeks x. %&5 :20 ('l. (BK

e. What is the weight of the turtle after 20 weeks? Show your work!! |
! b S

Loy = 2000 ° i3 i’ﬂ

f. If the giant mythical turtle evolves into a whale when it reaches 1,000 lbs, how many weeks will it
take for the turtie found in Vietnam to evolve into a whale?
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43. The data below gives the average annual salary for the NBA since the year 1980.

a. Make a scatterplot of this data. = :
‘ Years ‘ Annual Salary
-3000 :
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Years Since 1980

b. Does the data appear more linear or exponential? Use your calculator to find the appropriate

regression equation. Round to the nearest thousandth! ‘ . ’ (
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c. Use your equation to estimate the average annual salary for an NBA player in the year 2013.
Remember, your answer will be in thousands of d !
X: ,20\3- lﬁZO :?_,3

§C2= 61920168 /2270663 thorsand

o B0 406, o330
d. Inwhat year did the average a rural sl
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44. Find the equation of the line that is parallel to y = a - Ex and passes through the point (5, 8) in slope

intercept form. %Wope '(rr\{tf((P-{': \/: M ‘.g_é;.
M= .'?‘_- 2 /
.  -8=5(-5)

¢h approximately $8 million (represented as 8000

45. Find the equation of the line that is perpendicular to y = 7 — 2x and passes through the point (6,-3)in

point—sI(‘)pe form., @o\r/\{ ,<J0(p: \/ e M b(‘)‘b
M= 7= Y+3:%Lx—é>




46. Find the measure of the indicated angle. 47. Find the measure of angle TUS.
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48. Could a triangle be formed with the following side lengths?

a. 7,54 b. 9,6,5 c. 3,6,2 i
5.477 g*(o75( ijt#é@

49. Two sides of a triangle are given. Find the range of possible measures for the third side.

o= ¢ S-2
GiS= 1y 245703
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50. Solve for x.
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Find the midpoint of the line segments with the given endpoints.

;4—3 & +to |
51. (-5, 8) & (3, 10) -5 = {G ’) q\> l

52. (—23,-14) & (42, -9)

po (22 120) (g5 -11.9)

Use the information given to find the missing endpoint of the following line segments.
——— .

53. Given one endpoint is (7, —2) and the midpoint is (2, 4):

(2,4y- (T 22y L1 4=
‘Ir? # £= 2wy
(“ Z‘ lo){ =L=% IO:Y

54. Givel one endpoint is (15, —4) and the midpoint is (2.5, -8):

2,6=-15 tx -8:"1ty
= 2
S --|S+ % -6 -y +Y <:ZOI/|Q>
A0z X -2 = | |
Find the distance between the foIIowiZ; coordinates.
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55. (5, 8) & (3, 10)

J) (-5~ 3) +<g /O>
¢

M G = 835ors |

56. (—23,-14) & (42, -9) . Yp50

gia ((23{0;;5 :(f«;;« /H e~ dS R unm‘z

Use the information given to find the value of z.

57. The distance between (z, 22) and {-11, =50} is 78.
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58. Find the area and perimeter of the figure below. 4~ ’fwo A
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59. Prove that the figure is or is not a parallelogram.
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60. Prove that the figure ABCD is or is not a rectangle. A(O O) B(Z, 2) C(7, —3) D(5, —5)
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